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A.6

B. 9

C. 4

D.12

E. 2

Question 1- What value will come in place of question mark

प्रश्न 1- प्रश्न चिह्न के स्थान पर क्या मान आएगा

[ (75.01 + 6.013)÷ 8.81]× 13.99 = 21.001×?
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A.424

B. 510

C. 464

D.380

E. 430

Question 2- What value will come in place of question mark

प्रश्न 2- प्रश्न चिह्न के स्थान पर क्या मान आएगा

60.01÷ 8.81]× 59.99 + 24.91×3.01 – 11.22 = ?
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A.9

B. 5

C. 7

D.11

E. 13

Question 3- What value will come in place of question mark

प्रश्न 3- प्रश्न चिह्न के स्थान पर क्या मान आएगा

224.996 − 119.99+?2 +20.05 ×  4.91 = 54.98
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Question 4-

(i) x2 - 10x + 24 = 0

(ii)  y2  + 3y - 18 = 0

(i) x > y

(ii)  x < y

(iii)  x  ≥ y

(iv)  x ≤ y 

(v)  x = y or relation can’t 
be established,
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Question 5-

(i) 12x2 + 17x + 6 = 0

(ii)  12y2  + 11y + 2 = 0

(i) x > y

(ii)  x < y

(iii)  x  ≥ y

(iv)  x ≤ y 

(v)  x = y or relation can’t 
be established,
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Question 6-

(i) 6x2 + 17x + 7 = 0

(ii)  7y2 + 29y + 24 = 0

(i) x > y

(ii)  x < y

(iii)  x  ≥ y

(iv)  x ≤ y 

(v)  x = y or relation can’t 
be established,
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Question- The marked price of a table, a chair and a box is 20%, 40% and 60% 

more than there cost price. If there cost price are in ratio 3 : 4 : 5 and discount 

on each article is 15% , 20% and 30% respectively.

प्रश्न: एक मेज, एक कुर्सी और एक बॉक्र्स का अंचकत मलू्य वहां क्रय मलू्य रे्स 20%, 40% और 

60% अचिक ह।ै यचि क्रय मलू्य 3: 4: 5 के अनपुात में ह ैऔर प्रत्येक वस्तु पर छूट क्रमशः 15%, 

20% और 30% ह।ै
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Question 7- If a person buys 3 table and 2 chair then the profit earned by 

shopkeeper is Rs 912 then find cost price of table.

प्रश्न 7- यचि एक व्यचि 3 मेज और 2 कुर्सी खरीिता ह ैतो िकुानिार द्वारा अचजित लाभ 912 रुपये

ह ैतो मेज का क्रय मलू्य ज्ञात कीचजये।

A.Rs 1200

B. Rs 4000

C. Rs 5000

D.Rs 2400

E. None of these
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Question 8- If the difference between the marked price of table and box is Rs 

1760 then find original marked price of table.

प्रश्न 8- यचि मेज और बॉक्र्स के अंचकत मलू्य के बीि का अंतर 1760 रुपये ह ैतो मेज का 

वास्तचवक अंचकत मलू्य ज्ञात कीचजए।

A.Rs 1440

B. Rs 1240

C. Rs 1320

D.Rs 1540

E. None of these
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Question 9- If the difference between the selling price of table and chair is Rs 

1136 then find original selling price of chair.

प्रश्न 9- यचि मेज और कुर्सी के चवक्रय मलू्य के बीि का अंतर 1136 रुपये ह ैतो कुर्सी का 

वास्तचवक चवक्रय मलू्य ज्ञात कीचजए।

A.Rs 4484

B. Rs 4284

C. Rs 3584

D.Rs 7184

E. None of these
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Question 10- A team of 6 person is to be formed from 4 male and 4 female. 

What is the probability that team have less number of female than male.

प्रश्न 10- 4 परुुष और 4 मचहलाओ ंरे्स 6 व्यचियों का एक िल बनाया जाना ह।ै इर्सकी प्राचयकता 

क्या ह ैचक टीम में परुुषों की तुलना में मचहलाओ ंकी रं्सख्या कम ह?ै

A.1/15

B. 2/15

C. 3/22

D.3/14

E. None of these
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Question 11- Two train of length 290 m and 220 m running towards each other 

with speed 18 km/hr and 36 km/hr respectively. In what time they be clear of 

each other after meeting each other.

प्रश्न 11- 290 मीटर और 220 मीटर लंबी िो रेलगाच़ियााँ क्रमशः 18 चकमी/घंटा और 36 

चकमी/घंटा की गचत रे्स एक-िरू्सरे की ओर िल रही हैं। एक िरू्सरे रे्स चमलने के बाि वे चकतने र्समय में 

एक िरू्सरे रे्स पार हो जाते हैं।

A.34 sec

B. 20 sec

C. 24 sec

D.32 sec

E. None of these
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Question 12- P can do a work in 30 days and Q is 25% less efficient than P. 

Together P, Q and R can do a work in 16 days. They all start working together 

P left 6 days before completion the work and Q left 2 days before completion 

the work. In how much time total work was completed.

प्रश्न 12- P एक काम को 30 चिनों में कर र्सकता ह ैऔर Q, P रे्स 25% कम कुशल ह।ै P, Q और 

R चमलकर एक काम को 16 चिनों में कर र्सकते हैं। वे र्सभी एक र्साथ कायि करना शरुू करते हैं P 

कायि परूा करने रे्स 6 चिन पहले कायि छो़ि िेता ह ैऔर Q कायि परूा करने रे्स 2 चिन पहले कायि छो़ि

िेता ह।ै कुल कायि चकतने र्समय में परूा हआु? A. 5 days

B. 15 days

C. 20 days

D. 25 days

E. None of these
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Question 13- Two jar p and Q contains glucose concentration 85% and 65% 

respectively. In what ratio these two solutions be mixed to get mixture of 

glucose concentration 74%.

प्रश्न 13- िो जार ि और फ़ में ग्लकूोज की मात्रा क्रमशः 85% और 65% ह।ै ग्लकूोज र्सांद्रता का 

चमश्रण 74% प्राप्त करने के चलए इन िोनों चवलयनों को चकर्स अनपुात में चमलाया जाए?

A. 11 : 9

B. 8 : 11

C. 11 : 13

D. 9 : 11

E. None of these
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Question 14- A person received Rs 3900 simple interest of a certain sum after 

2 years at 13% per annum. The person received total money after 2 years then 

he bought an article and sold at 20% profit. What is the difference between the 

selling price and cost price of article.

प्रश्न 14- एक व्यचि को एक चनचित राचश का 2 वषि बाि 13% वाचषिक िर रे्स 3900 रुपये का 

र्सािारण ब्याज प्राप्त होता ह।ै व्यचि को 2 वषों के बाि कुल िन प्राप्त होता ह,ै चिर उर्सने एक वस्तु

खरीिी और उरे्स 20% लाभ पर बेि चिया। वस्तु के चवक्रय मलू्य और क्रय मलू्य के बीि का अंतर 

क्या ह?ै A. Rs 2000

B. Rs 4000

C. Rs 1500

D. Rs 1800

E. None of these
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Question 15- A certain sum of money becomes three times of itself in 5 years 

with a certain rate of simple interest. What will be the difference of  compound 

interest  and simple interest on Rs 15000 in 1 year with same rate of interest as 

simple interest when interest compounded half yearly.

प्रश्न 15- एक चनचित िनराचश र्सािारण ब्याज की एक चनचित िर के र्साथ 5 वषों में स्वयं की तीन 

गुना हो जाती ह।ै 1 वषि में 15000 रुपये पर िक्रवचृि ब्याज और र्सािारण ब्याज का अंतर र्सािारण 

ब्याज के र्समान ब्याज के र्साथ क्या होगा जब ब्याज अििवाचषिक रूप रे्स रं्सयोचजत होगा?

A. Rs 6000

B. Rs 5000

C. Rs 600

D. Rs 500

E. None of these
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